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Math 9 — Unit 2: Algebra One Name: MWrs. Yoent

Lesson 2.2: Multiplying Monomials and the DISTRIBUTIVE Property Date: _[efp |9 D005
[

Learning Goal: We are learning to multiply monomials with any polynomial.

Now that we know how to add and subtract like terms, lets look at how to multiply terms together (whether
they are like terms or not!). We will begin with focussing our attention on multiplying monomials.

How would you simplify (3x2y)(5x3y2 ? Let’s break it down and first look at something more familiar.
> s3
( xxJ)( .x.x.x.j.J) = |§,._J

How would you evaluate 3* 7= Ix3x3Xx3

In the same way, .5><'5><.5><75><§><5><5 can be simplified as

Therefore, since variables are just numbers disguising themselves as letters, we can apply the exact same math
to them.

If we had to simplify (n3 )an ), we can rewrite each bracket as (\f\- n. '\><'\- '\/7 , then

>
we can simplify itto _ Vb . Notice that we started with the exponents of 3 and 2, and we ended with

an exponent of S . This leads to the first rule of exponents:

When multiplying the same variables togethers, A D D. the exponents.

Try out these examples:

2 (<)) o (#9)(0)

S+io < €,
= X =x‘ =0-L

c) (.21/}/3.Aﬂ{7 )(?Wz).c())-/z) WHOAH! 2 and 5 aren’t variables!

s 109§

(oW Z.J

d) (—4abc)(6b4c3 )(—3c2b8a3)

= 72a,‘rl;3c‘
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Now that we can multiply a monomial by a monomial, how would we multiply a monomial by a polynomial, such
as m4)? To multiply, you need to use D!&Ig\ &g T !ME . In a nutshell, you

“distribute” the monomial to each term via multiplication. Pﬂ-orek‘r‘f

Example: Simplify 3(4+5)first with BEDMAS, then by using the distri

S
gt 2(4+s) |

_ /Ko//v

-—
P

ive property.

Again, if it works with numbers, it has to work with variables!

Examples: Expand (that’s the word we use to mean to “grow” the expression and to get rid of the brackets)
Ry
a) M) b) 3 (2x° +5x—4)
2 S ~ 3 2
= €x =49 = x4 ISx"—12x

m
c) —Sm

n (2mn +3m’n® —m*n'" )
S

¢ 13
= —(omM ntt— lgr\oﬂnq-i- S™M a

d) =x'| =x* ==x7 £
S 2 7 3
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Expand AND simplify (put your answers in descending order):
PN
a) mz)M)& (2x-3)
2

3
2&} —Z]'xb_{_éx A 83(3—' | 2-¢

— %
= 20X —32x 4 bx

N}
b).~4y” (3)” =5)= 51 (6+)

u 2~
-2—0' + 20 Sy
"7"'3{(73”—"5

\

c) 3mn(2m—7n)—@8)+6m L

- 3
I — 20M A —Yom T4 18mn— bn

T

— | L"“"z/\ —.3~m7:— 4 om — 6n

\l

Success Criteria:
e | can multiply like variables by adding the exponents
e | understand the difference between multiplying coefficients and multiplying variables
e | can use the distributive property to multiply a polynomial with a monomial
e | can use the distributive property to combine multiple variables into a single term



